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Note: All questions are compulsory.
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1. [2.5+2.5 Marks] f
a. Assume you work for an organization that develops database productsgfor Ipdividuals and small

businesses. This organization is interested in quantifying its software deysl
metrics and how these can be collected.

b. Which diagrams in UML capture the behavioral view of the syste }
structural aspects of a system?

{2.5+ 2.5 Marks]
List the role and task for the System Architect.
b. Suggest reasons why the productivity rate of prog i
that of two programmers working individually. s,

PN

3. [2.5+2.5 Marks ]
a. Suggest factors that should be taken igjc

of a large software system, LY
b. Suggest ways in which the u i

retailer might be adapted foru %
&

ave a visual impairment or problems with muscular control.

4. [2.5+2.5 Marks] %@g%
a. Givetwo advantagei;:l%t isadvantages of the approach to process assessment and improvement
that is embodiedn th process improvement frameworks such as the CMMI.

b. Design the a‘ﬁ;hl ce of a system that accepts natural language commands and translates these into

databas lﬁil% in gfanguage such as SQL.

Expl3 ) %stOCOMO model. A project size of 250 KLOC is to be developed. Software development
feath, hassaverage experience on similar type of projects. The project schedule is not very tight. Calculate

the% #Pand development time of the project. {a,=3.0, b, = 1.12, ¢, =2.5, dy =0.35 ]

6. [5 Marks]
Draw an activity chart showing the project schedule for the following set of activities. Also estimate the
time required to finish the project.



{5 Marks]

Consider a pr

TASK DURATION DEPENDENCIES
(days)

T1 10

T2 15 Tl

T3 10 T1, T2

T4 20

T3 10

Te 15 T3,T4

T7 20 T3

T8 35 T7

T9 15

T10 5

T11 10

TI2

TI3

Tl4 T8,T9
T12,T14
T15

ject

er a‘f‘%mnes =35

ﬁle following functional units:

Number ofﬁ
% outygtits = 40




